Answers 29th April

Reading – Scarecrows
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Year 5 Maths Millimetres and Millilitres
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Year 6 Maths – Counting Cubes
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1. It feels unlucky and miserable, like it will never end
2.The top

3. Acolour or shade

4. Waited, stalled etc

5. Afight or commotion

1: He was killed. It referenced his widow.
R: Kansas

R: Scarecrows

1: Angry and shocked - he wants them to pay and his jaw is scraping the floor

E: Golden straw was falling out of the wounds
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Expected Expected

5a. multiply, 2,300mm; divide, 3.21; 5b. divide, 4.1L; multiply, 7,500mm;

multiply, 5,700ml muliply, 9,400ml
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Expected

4a.2,500mm + 0.3m + 1,500mm = 4.3m
5a. No, ;301 = 50ml < 0.5L.

0.5 x 1,000 = 500ml. 500ml is more than
50ml.

6a. No, Jack is incorrect because he has
3,000ml (4,600ml + 2 and 2,300ml +
700mi). Peter has 3,100ml (5.2L + 2 and
2,61+ 500mi). Peter has 100ml of water
more than Jack.

Expected

4b. 0.5L + 3,700ml + 1,500ml = 5.7L

5b. No, 722 | = 900ml = 0.9L.

0.9Lx 1,000 = 900ml, so all are equal.

6b. Yes, Lily is correct because Brooke has
1,900mi (2,800ml + 2 and 1,400ml +
500ml). Lily has 800ml (1.2L = 2 and 0.6L +
200mi). Lily has 1,100ml of water less than

Brooke.
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Expected Expected

5a. 26cm® 5b. 19cm?®
6a. Acceptable answers: 19cm? or more. 6b. Acceptable answers: 33cm? or more.
7a.Aand B

8a. 24cm? + 16cm? = 40cm?® 8b. 21cm? + 8cm? =29cm®
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Expecte
4a._Kian is incorrect; although Shape A
and B both have a volume of 12cm3,
Shape C has a volume of 11cms, so they
do not all have the same volume.
5a.A=7cm?, B = 17cm3, C = 7cm?. Tilly
can create the following combinations: A
+BOrA+C.

6a. B is the odd one out; it has a volume of
19cm3. A and C both have a volume of
21ems.

Expected

4b. Ana is comrect; both Shape B and
Shape C have a volume of 19cm?.

5b. A =20cm3, B = 20cm3, C = 21cm3. Jon
can create the following combinations: A
+CorB+C.

6b. A'is the odd one out; it has a volume
of 14cm?. B and C both have a volume of
15cm3.





